

Bessel Function with Linear Differential Operator

S. Lakshmi^{1*}, K. R. Karthikeyan², S. Varadharajan³ and C. Selvaraj⁴

² National University of Science and Technology, Muscat, Sultanate of Oman.

³ University of Technology and Applied Science – Al Musanna, Sultanate of Oman.

⁴ Presidency College (Autonomous), Chennai, India.

Abstract

In this paper, a class of analytic functions f defined on the open unit disc satisfying

$$Re \left\{ e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right) \right\}^2 + \beta > \left| \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right|^2$$

is studied, among other results, inclusion relations and applications involving a certain class of integral operator are also considered.

Keywords: Analytic function, univalent function, starlike function, convex function, subordination, bessel function

2010 Mathematics Subject Classification: 30C45, 30C50.

1 INTRODUCTION

Let A denote the class of all analytic function of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1.1)$$

in the open unit disc $U = \{z : z \in \mathbf{C} : |z| < 1\}$. Let S be the subclass of A consisting

* Corresponding Author.
E-mail ID: Email: laxmirmk@gmail.com.

of univalent functions in U . We say that the function f is convex when $f(U)$ is a convex set. Also, we say that a function f is starlike with respect to the origin when $f(U)$ is a starlike set with respect to 0. By \mathbf{K} or \mathbf{S}^* we denote the subclasses of \mathbf{A} consisting of all functions which are convex or starlike respectively, while by $\mathbf{S}^*(\delta)$ we denote the class of starlike functions of order δ , $\delta \in [0,1)$.

In 1991, Goodman [7] introduced the class \mathbf{UCV} of uniformly convex functions. A function $f \in \mathbf{CV}$ is in the class \mathbf{UCV} if for every circular arc $\xi \subset U$, with center in U , the arc $f(\xi)$ is convex. A more useful characterization of class \mathbf{UCV} was given by Ma and Minda [11] (see also [17]) as:

$$f \in \mathbf{UCV} \Leftrightarrow f \in \mathbf{A} \text{ and } \operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) > \left| \frac{zf''(z)}{f'(z)} \right|, \quad (z \in U).$$

In 1999, Kanas and Wisniowska [8] (see also [9]) introduced the class of k -uniformly convex functions, $k \geq 0$, denoted by k - \mathbf{UCV} and the class k - \mathbf{ST} related to k - \mathbf{UCV} by Alexandar type relation, i.e.,

$$f \in k\text{-UCV} \Leftrightarrow zf' \in k\text{-ST} \Leftrightarrow f \in \mathbf{A} \text{ and } \operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} \right) > k \left| \frac{zf''(z)}{f'(z)} \right|, \quad (z \in U).$$

In [8] and [9] respectively, their geometric definitions and connections with the conic domains were also considered. For a fixed $k \geq 0$, the class k - \mathbf{UCV} is defined purely geometrically as a subclass of univalent functions which map the intersection of U with any disk centered at ζ , $|\zeta| \leq k$, onto a convex domain. The notion of k -uniform convexity is a natural extension of the classical convexity. Observe that, if $k = 0$ then the center ζ is the origin and the class k - \mathbf{UCV} reduces to the class $k\mathbf{V}$. Moreover for $k = 1$ it coincides with the class of uniformly convex functions \mathbf{UCV} introduced by Goodman [7] and studied extensively by Rønning [17] and independently by Ma and Minda [11]. The class k - \mathbf{UCV} started much earlier in papers [5, 6] with some additional conditions but without the geometric interpretation.

We say that a function $f \in \mathbf{A}$ is in the $\mathbf{S}_{k,\gamma}^*$, $k \geq 0, \gamma \in \mathbf{C} \setminus \{0\}$, if and only if

$$\operatorname{Re} \left[1 + \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right] > k \left| \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right|, \quad (z \in U).$$

A lot of authors investigated the properties of the class $S_{k,\gamma}^*$ and their generalizations in several directions, e.g., see [1, 2, 6, 9, 15, 17, 19]. An analytic function f is said to be subordinate to an analytic function g (written as $f \prec g$) if and only if there exists an analytic function ω with

$$\omega(0) = 0 \text{ and } |\omega(z)| < 1 \text{ for } z \in U$$

such that

$$f(z) = g(\omega(z)) \text{ for } z \in U.$$

In particular, if g is univalent in U , we have the following equivalence

$$f \prec g \Leftrightarrow f(0) = g(0) \text{ and } f(U) \subset g(U).$$

The convolution or Hadamard product of two functions of class A is denoted and defined by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n,$$

where f has the form (1.1) and

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n \quad z \in U.$$

Let us consider the following second-order linear homogeneous differential equation (see for details [3] and [4]):

$$z^2 \omega''(z) + bz \omega'(z) + [dz^2 - v^2 + (1-b)v] \omega(z) = 0 \quad (v, b, d \in \mathbb{C}). \tag{1.2}$$

The function $\omega_{v,b,d}(z)$, which is called the generalized Bessel function of the first kind of order v , it is defined as a particular solution of (1.2). The function $\omega_{v,b,d}(z)$ has the familiar representation as

$$\omega_{v,b,d}(z) = \sum_{n=0}^{\infty} \frac{(-d)^n}{n! \Gamma\left(v + n + \frac{b+1}{2}\right)} \left(\frac{z}{2}\right)^{2n+v} \quad (z \in \mathbb{C}). \tag{1.3}$$

Here Γ stands for the Euler gamma function. The series (1.3) permits the study of Bessel, modified Bessel, and spherical Bessel function altogether. It is worth mentioning that, in particular:

- i) For $b = d = 1$ in (1.3), we obtain the familiar Bessel function of the first kind of order u

defined by

$$J_\nu(z) = \sum_{n=0}^{\infty} \frac{(-1)^n}{n! \Gamma(\nu + n + 1)} \left(\frac{z}{2}\right)^{2n+\nu} \quad (z \in \mathbf{C}). \quad (1.4)$$

ii) For $b=1$ and $d=-1$ in (1.3), we obtain the modified Bessel function of the first kind of order ν defined by

$$I_\nu(z) = \sum_{n=0}^{\infty} \frac{(-1)^n}{n! \Gamma(\nu + n + 1)} \left(\frac{z}{2}\right)^{2n+\nu} \quad (z \in \mathbf{C}). \quad (1.5)$$

iii) For $b=2$ and $d=1$ in (1.3), the function $\omega_{\nu,b,d}(z)$ reduces to $\frac{\sqrt{2}}{\sqrt{\pi}} \mathbf{S}_\nu(z)$, where \mathbf{S}_ν is the spherical Bessel function of the first kind of order ν , defined by

$$\mathbf{S}_\nu(z) = \frac{\sqrt{\pi}}{\sqrt{2}} \sum_{n=0}^{\infty} \frac{(-1)^n}{n! \Gamma\left(\nu + n + \frac{3}{2}\right)} \left(\frac{z}{2}\right)^{2n+\nu} \quad (z \in \mathbf{C}). \quad (1.6)$$

Now, consider the function $u_{\nu,b,d}(z) : \mathbf{C} \rightarrow \mathbf{C}$, defined by the transformation

$$u_{\nu,b,d}(z) = 2^\nu \Gamma\left(\nu + \frac{b+1}{2}\right) z^{-\frac{\nu}{2}} \omega_{\nu,b,d}(\sqrt{z}). \quad (1.7)$$

By using the well-known Pochhammer symbol (or the shifted factorial) $(\lambda)_\mu$ defined, for $\lambda, \mu \in \mathbf{C}$ and in terms of the Euler Γ function, by

$$(\lambda)_\mu := \frac{\Gamma(\lambda + \mu)}{\Gamma(\lambda)} = \begin{cases} 1 & (\mu = 0; \lambda \in \mathbf{C} \setminus \{0\}), \\ \lambda(\lambda+1)\cdots(\lambda+n-1) & (\mu = n \in \mathbf{N}; \lambda \in \mathbf{C}), \end{cases}$$

and $(\lambda)_0 = 1$, we obtain for the function $u_{\nu,b,d}(z)$ the following representation

$$u_{\nu,b,d}(z) = \sum_{n \geq 0} \frac{\left(\frac{-d}{4}\right)_n}{\left(\nu + \frac{b+1}{2}\right)_n} \frac{z^n}{n!},$$

where $k = \nu + \frac{b+1}{2} \neq 0, -1, -2, \dots$. This function is analytic on \mathbf{C} and satisfies the

second order linear differential equation

$$4z^2 u''(z) + 2(2v + b + 1)zu'(z) + dz u(z) = 0.$$

Now, we introduce the function $\varphi_{v,b,d}(z)$ defined in terms of generalized Bessel function $\omega_{v,b,d}(z)$, defined by

$$\begin{aligned} \varphi_{v,b,d}(z) &= zu_{v,b,d}(z) \\ &= 2^v \Gamma\left(v + \frac{b+1}{2}\right) z^{1-\frac{v}{2}} \omega_{v,b,d}(\sqrt{z}) \\ &= z + \sum_{n=1}^{\infty} \frac{(-d)^n z^{n+1}}{4^n n!(k)_n}, \text{ where } k = \left(v + \frac{b+1}{2}\right) \\ &= g(k, d, z) \end{aligned}$$

Motivated by Selvaraj and Karthikeyan [14], we define the following $D_\lambda^m(k, d)f(z) : U \rightarrow U$ by

$$D_\lambda(k, d)f(z) = f(z) * g(k, d, z) \tag{1.8}$$

$$D_\lambda^1(k, d)f(z) = (1-\lambda)(f(z) * g(k, d, z)) + \lambda z(f(z) * g(k, d, z))' \tag{1.9}$$

⋮

$$D_\lambda^m(k, d)f(z) = D_\lambda^1(D_\lambda^{m-1}(k, d)f(z)) \tag{1.10}$$

If $f \in A$, then from (1.9) and (1.10) we may easily deduce that

$$D_\lambda^m(k, d)f(z) = z + \sum_{n=2}^{\infty} \frac{(1 + (n-1)\lambda)^m (-d)^{n-1} a_n z^n}{4^{n-1} (n-1)!(k)_{n-1}} \tag{1.11}$$

where $m \in N_0 = N \cup \{0\}$ and $\lambda \geq 0$.

It can be easily verified from definition of (1.11) that

$$\lambda z \left(D_\lambda^m(k, d)f(z) \right)' = D_\lambda^{m+1}(k, d)f(z) - (1-\lambda)D_\lambda^m(k, d)f(z) \tag{1.12}$$

In the special cases of the $D_\lambda^m(k, d)f(z)$, we obtain the following operators related to the Bessel function:

i) Choosing $m=0$ in (1.11) we get the Deniz operator

$$B_k^c = z + \sum_{n=2}^{\infty} \frac{(-d)^{n-1} a_n z^n}{4^{n-1} (n-1)! (k)_{n-1}}.$$

ii) Choosing $m=0$ and $b=d=1$ in (1.11) we obtain the operator $J_\nu : A \rightarrow A$ related with Bessel function, defined by

$$J_\nu f(z) = z + \sum_{n=2}^{\infty} \frac{(-1)^{n-1} a_n z^n}{4^{n-1} (n-1)! (\nu+1)_{n-1}}.$$

iii) Choosing $m=0$, $b=1$ and $d=-1$ in (1.11) we obtain the operator $J_\nu : A \rightarrow A$ related with modified Bessel function, defined by

$$J_\nu f(z) = z + \sum_{n=2}^{\infty} \frac{(1)^{n-1} a_n z^n}{4^{n-1} (n-1)! (\nu+1)_{n-1}}.$$

iv) Choosing $m=0$, $b=2$ and $d=1$ in (1.11) we obtain the operator $S_\nu : A \rightarrow A$ related with spherical Bessel function, defined by

$$S_\nu f(z) = z + \sum_{n=2}^{\infty} \frac{(-1)^{n-1} a_n z^n}{4^{n-1} (n-1)! \left(\nu + \frac{3}{2}\right)_{n-1}}.$$

Definition 1.1 A function $f(z) \in A$ is in the class $S^*(\alpha, \beta, \gamma)$, $\gamma \in \mathbb{C} \setminus \{0\}$ if and only if

$$\operatorname{Re} \left\{ \left| e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right) \right| \right\}^2 + \beta > \left| \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right|^2. \quad (1.13)$$

Remark 1 The above differential inequality can be equivalently written as

$$1 + \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \prec e^{-i\alpha} (h(z) \cos \alpha + i \sin \alpha) = K_\alpha(z),$$

where $h(z) = 1 - \frac{\beta}{\cos^2 \alpha} + \frac{2}{\pi} \left(\log \frac{1 + \sqrt{\frac{(z+\theta)}{(1+\theta z)}}}{1 - \sqrt{\frac{(z+\theta)}{(1+\theta z)}}} \right)^2$, $\theta = \left(\frac{e^\mu - 1}{e^\mu + 1} \right)^2$ and $\mu = \frac{\sqrt{\beta} \pi}{2 \cos \alpha}$.

Definition 1.2 A function $f(z) \in A$ is in the class $Q_\lambda^m(k, d, \alpha, \beta, \gamma)$, if and only if

$$\operatorname{Re} \left\{ \left| e^{i\alpha} \left(1 + \frac{1}{\gamma} (\mathcal{J}(\lambda, m, k, d, z) - 1) \right) \right|^2 + \beta > \left| \frac{1}{\gamma} (\mathcal{J}(\lambda, m, k, d, z) - 1) \right|^2 \right\},$$

where

$$\mathcal{J}(\lambda, m, k, d, z) = \frac{z \left(D_\lambda^m(k, d) f(z) \right)'}{D_\lambda^m(k, d) f(z)}. \tag{1.14}$$

Since $K_\alpha(z) = e^{i\alpha} (h(z) \cos \alpha + i \sin \alpha)$ is a convex univalent function, we can write Definition 1.1 in subordination form

$$f \in Q_\lambda^m(k, d, \alpha, \beta, \gamma) \Leftrightarrow f \in A \text{ and } \mathcal{J}(\lambda, m, k, d, z) \prec K_\alpha(z) \quad (z \in U).$$

Special Cases

For $\lambda = 0$ and $f \in Q_\lambda^m(k, d, \alpha, \beta, \gamma)$ we have $D_\lambda^m(k, d) f(z) \in S^*(\alpha, \beta, \gamma)$.

2 PRELIMINARY RESULTS

Lemma 1 [13] Let h be a convex univalent function in U with $\operatorname{Re}(\lambda h(z) + \mu) > 0$, where $\mu \in \mathbb{C}, \lambda \in \mathbb{C} \setminus \{0\}, z \in U$. If p is analytic in U with $p(0) = h(0)$, then

$$p(z) + \frac{zp'(z)}{\lambda p(z) + \mu} \prec h(z).$$

Lemma 2 [12] Let d be a complex number with $\operatorname{Re} d > 0$. Suppose that $\Psi: \mathbb{C}^2 \rightarrow \mathbb{C}$ is continuous and satisfies the conditions $\operatorname{Re} \Psi(ix, y) \leq 0$, when x is real and

$$y \leq (-|d - ix|^2)/(2\operatorname{Re} d).$$

If p is analytic in U with $p(0) = d$ and $\operatorname{Re} \left[\Psi \left(p(z), zp'(z) \right) \right] > 0$ for $z \in U$, then $\operatorname{Re} p(z) > 0$ in U .

Lemma 3 [18] Let f and g be in the class kV and S^* respectively. Then, for every function F analytic in U , we have

$$\frac{f(z) * g(z) F(z)}{f(z) * g(z)} \in \overline{\operatorname{co}}[F(U)], \quad z \in U,$$

where $\overline{\operatorname{co}}[F(U)]$, denotes the closed convex hull of the set $F(U)$.

Lemma 4 [16] Let the function $\phi(z)$ given by

$$\phi(z) = \sum_{n=1}^{\infty} B_n z^n$$

be convex in U . Suppose also that the function $h(z)$ given by

$$h(z) = \sum_{n=1}^{\infty} h_n z^n$$

is holomorphic in U . If $h(z) \prec \phi(z)$, $z \in U$, then $|h_n| \leq |B_n|$, $n \in N = \{1, 2, 3, \dots\}$.

3 COEFFICIENT INEQUALITIES

A function $f(z) \in A$ is said to be bi-univalent in U if both $f(z)$ and $f^{-1}(z)$ are univalent in U . Let Σ denote the class of bi-univalent functions defined in the unit disk U .

Definition 3.1 Let $h: U \rightarrow \mathbb{C}$ be a convex univalent function such that $h(0) = 1$ and $h(\bar{z}) = \overline{h(z)}$, for $z \in U$ and $\operatorname{Re}(h(z)) > 0$. A function $f \in \Sigma$ is said to be in the class

$S^*_{\Sigma}(\alpha, \gamma), \gamma \in \mathbb{C} \setminus \{0\}$ if the following conditions are satisfied:

$$f \in \Sigma, e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{zf'(z)}{f(z)} - 1 \right) \right) \prec h(z) \cos \alpha + i \sin \alpha, z \in U \tag{3.1}$$

and

$$e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{zg'(\omega)}{g(\omega)} - 1 \right) \right) \prec h(\omega) \cos \alpha + i \sin \alpha, \omega \in U, \tag{3.2}$$

where

$$g(\omega) = f^{-1}(\omega) = \omega - a_2\omega^2 + (2a_2^2 - a_3)\omega^3 - (5a_2^3 - 5a_2a_3 + a_4)\omega^4 + \dots, \alpha \in \left(-\frac{\pi}{2}, \frac{\pi}{2} \right).$$

Definition 3.2 A function $f \in \Sigma$ given by (1.1) is said to be in the class $S^{\lambda, m}_{\Sigma}(\alpha, \gamma, k, d, h)$ if the following conditions are satisfied:

$$e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{z \left(D^m_{\lambda}(k, d)f(z) \right)'}{D^m_{\lambda}(k, d)f(z)} - 1 \right) \right) \prec h(z) \cos \alpha + i \sin \alpha, z \in U \tag{3.3}$$

and

$$e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{\omega \left(D^m_{\lambda}(k, d)g(\omega) \right)'}{D^m_{\lambda}(k, d)g(\omega)} - 1 \right) \right) \prec h(\omega) \cos \alpha + i \sin \alpha, \omega \in U, \tag{3.4}$$

where $g(\omega) = f^{-1}(\omega), \gamma \in \mathbb{C} \setminus \{0\}, 0 \leq \lambda \leq 1, z, \omega \in U$ on specializing the parameter λ .

Theorem 1 Let f given by (1.1) be in the class $S^*_{\Sigma}(\alpha, \gamma)$, then

$$|a_2| \leq \sqrt{|\gamma|} \|B_1\| \cos \alpha$$

and

$$|a_3| \leq 4|\gamma| \|B_1\| \cos \alpha.$$

Theorem 2 Let f given by (1.1) be in the class $S_{\Sigma}^{\lambda,m}(\alpha, \gamma, k, d, h)$, then

$$|a_2| \leq \sqrt{\frac{2|\gamma| \|B_1\| \cos \alpha}{\frac{(1+2\lambda)^m d^2}{8(k)_2} - \frac{(1+\lambda)^{2m} d^2}{8(k)_1^2}}}$$

and

$$|a_3| \leq \frac{2|\gamma|^2 \|B_1\| \cos \alpha}{\frac{(1+2\lambda)^m d^2}{8(k)_2} - \frac{(1+\lambda)^{2m} d^2}{8(k)_1^2}}.$$

Proof. It follows from (3.3) and (3.4) that

$$e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{z \left(D_{\lambda}^m(k, d) f(z) \right)'}{D_{\lambda}^m(k, d) f(z)} - 1 \right) \right) = p(z) \cos \alpha + i \sin \alpha, \quad z \in U \tag{3.5}$$

and

$$e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{\omega \left(D_{\lambda}^m(k, d) g(\omega) \right)'}{D_{\lambda}^m(k, d) g(\omega)} - 1 \right) \right) = q(\omega) \cos \alpha + i \sin \alpha, \quad \omega \in U, \tag{3.6}$$

where $p(z) \prec h(z)$ and $q(\omega) \prec h(\omega)$ have the forms

$$p(z) = 1 + p_1 z + p_2 z^2 + \dots$$

and

$$q(\omega) = 1 + q_1 \omega + q_2 \omega^2 + \dots$$

respectively. It follows from (3.5) and (3.6) that

$$\frac{e^{i\alpha}}{\gamma} \frac{(1+\lambda)^m (-d)}{4(1)!(k)_1} a_2 = p_1 \cos \alpha \tag{3.7}$$

$$\frac{e^{i\alpha}}{\gamma} \left(\frac{(2)(1+2\lambda)^m d^2}{4^2(2)!(k)_2} a_3 - \left(\frac{(1+\lambda)^m (-d)}{4(1)!(k)_1} \right)^2 a_2^2 \right) = p_2 \cos \alpha \tag{3.8}$$

$$\frac{-e^{i\alpha}}{\gamma} \frac{(1+\lambda)^m (-d)}{4(1)!(k)_1} a_2 = q_1 \cos \alpha \tag{3.9}$$

and

$$\frac{e^{i\alpha}}{\gamma} \left(\frac{(4)(1+2\lambda)^m d^2}{4^2(2)!(k)_2} a_2^2 - \frac{(2)(1+2\lambda)^m d^2}{4^2(2)!(k)_2} a_3 - \left(\frac{(1+\lambda)^m (-d)}{4(1)!(k)_1} \right)^2 a_2^2 \right) = q_2 \cos \alpha. \tag{3.10}$$

From (3.7) and (3.9), we obtain

$$p_1 = -q_1.$$

Adding (3.8) and (3.10), we get

$$\frac{e^{i\alpha}}{\gamma} \left(\frac{(1+2\lambda)^m d^2}{8(k)_2} - \frac{(1+\lambda)^{2m} d^2}{8(k)_1^2} \right) a_2^2 = (p_2 + q_2) \cos \alpha. \tag{3.11}$$

Since $p, q \in h(U)$, applying Lemma 4, we have

$$|p_m| = \left| \frac{p^{(m)}(0)}{m!} \right| \leq |B_1|, \quad m \in N \tag{3.12}$$

$$|q_m| = \left| \frac{q^{(m)}(0)}{m!} \right| \leq |B_1|, \quad m \in N. \tag{3.13}$$

Applying (3.12), (3.13) and Lemma 4 for the coefficients p_1, p_2, q_1 and q_2 , we get

$$|a_2| \leq \sqrt{\frac{2|\gamma| |B_1| \cos \alpha}{\frac{(1+2\lambda)^m d^2}{8(k)_2} - \frac{(1+\lambda)^{2m} d^2}{8(k)_1^2}}}. \tag{3.14}$$

Subtracting (3.10) from (3.8), we get

$$\frac{e^{i\alpha}}{\gamma} \left(\frac{(1+2\lambda)^m d^2}{8(k)_2} a_3 - \frac{(1+2\lambda)^m d^2}{8(k)_2} a_2^2 \right) = (p_2 - q_2) \cos \alpha \tag{3.15}$$

or, equivalently

$$a_3 = \left(\frac{\gamma}{e^{i\alpha}} \right) \left(\frac{8(k)_2 (p_2 - q_2) \cos \alpha}{(1+2\lambda)^m d^2} \right) + \left(\frac{\gamma}{e^{i\alpha}} \right)^2 \left(\frac{(p_2 + q_2) \cos \alpha}{\frac{(1+2\lambda)^m d^2}{8(k)_2} - \frac{(1+\lambda)^{2m} d^2}{8(k)_1^2}} \right).$$

Applying (3.12), (3.13) and Lemma 4 once again for the coefficients p_1, p_2, q_1 and q_2 , we get

$$|a_3| \leq \frac{2|\gamma|^2|B_1|\cos\alpha}{\frac{(1+2\lambda)^m d^2}{8(k)_2} - \frac{(1+\lambda)^{2m} d^2}{8(k)_1^2}}.$$

This complete the proof of Theorem 2.

Corollary 1 Let $f \in \mathcal{A}$ be bi convex function of order β then $|a_2| \leq \sqrt{1-\beta}$ and $|a_3| \leq 1-\beta$.

Corollary 2 Let $f \in \mathcal{A}$ satisfy the condition $1 + \frac{zf''(z)}{f'(z)} \prec h(z)$ and

$1 + \frac{zg''(w)}{g'(w)} \prec h(w)$ then $|a_2| \leq \frac{B_1\sqrt{B_1}}{\sqrt{2|B_1^2 + 2B_1 - 2B_2|}}$ and $|a_3| \leq \frac{1}{2}(B_1 + |B_2 - B_1|)$.

Corollary 3 Let f be given by (1.1) and $g = f^{-1}$. If f and g satisfies the

condition $(1-\lambda)\frac{zf'(z)}{f(z)} + \lambda\left(1 + \frac{zf''(z)}{f'(z)}\right) \prec h(z)$

and $(1-\lambda)\frac{wg'(w)}{g(w)} + \lambda\left(1 + \frac{wg''(w)}{g'(w)}\right) \prec g(w)$,

then

$$|a_2| \leq \frac{B_1\sqrt{B_1}}{\sqrt{(1+\lambda)|B_1^2 + (1+\lambda)(B_1 - B_2)|}} \quad (3.16)$$

and

$$|a_3| \leq \frac{B_1 + |B_2 - B_1|}{1+\lambda}. \quad (3.17)$$

Remark 2 Put $\lambda = 1$ in corollary 3, we get the result $|a_2| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{2|B_1^2 + 2B_1 - 2B_2|}}$ and

$|a_3| \leq \frac{1}{2}(B_1 + |B_2 - B_1|)$ of corollary 2.

4 CLOSURE PROPERTY

Theorem 3 Let

$$F(\lambda, m, k, d, f(z)) = D_\lambda^m(k, d)f(z). \tag{4.1}$$

Then $f \in Q_\lambda^m(k, d, \alpha, \beta, \gamma)$ if and only if $F(\lambda, m, k, d, f(z)) \in \mathcal{S}^*(\alpha, \beta, \gamma)$.

Proof. Let $F(\lambda, m, k, d, f(z)) \in \mathcal{S}^*(\alpha, \beta, \gamma)$, then

$$Re \left\{ \left| e^{i\alpha} \left(1 + \frac{1}{\gamma} \left(\frac{zF'(\lambda, m, k, d, f(z))(z)}{F(\lambda, m, k, d, f(z))} - 1 \right) \right) \right|^2 + \beta > \left| \frac{1}{\gamma} \left(\frac{zF'(\lambda, m, k, d, f(z))(z)}{F(\lambda, m, k, d, f(z))} - 1 \right) \right|^2 \right\}. \tag{4.2}$$

Thus (4.1) together with (4.2) implies

$$Re \left\{ \left| e^{i\alpha} \left(1 + \frac{1}{\gamma} (J(\lambda, m, k, d, z) - 1) \right) \right|^2 + \beta > \left| \frac{1}{\gamma} (J(\lambda, m, k, d, z) - 1) \right|^2 \right\},$$

where $J(\lambda, m, k, d, z)$ is given by (1.14). Therefore $f(z) \in Q_\lambda^m(k, d, \alpha, \beta, \gamma)$.
Converse is immediate.

Theorem 4 For $m \geq 1$, $Q_\lambda^{m+1}(k, d, \alpha, \beta, \gamma) \subset Q_\lambda^m(k, d, \alpha, \beta, \gamma)$.

Proof. Let $f \in Q_\lambda^{m+1}(k, d, \alpha, \beta, \gamma)$ and

$$\frac{z \left(D_\lambda^m(k, d)f(z) \right)'}{D_\lambda^m(k, d)f(z)} = p(z), \tag{4.3}$$

where p is analytic in U and $p(0) = 1$.

From (1.12) and (4.3) and after some simplification, we obtain

$$\frac{D_\lambda^{m+1}(k, d)f(z)}{D_\lambda^m(k, d)f(z)} = \lambda p(z) + (1 - \lambda). \quad (4.4)$$

By logarithmic differentiation of (4.4), we have

$$\frac{z \left(D_\lambda^{m+1}(k, d)f(z) \right)'}{D_\lambda^{m+1}(k, d)f(z)} = p(z) + \frac{\lambda z p'(z)}{(1 - \lambda) + \lambda p(z)}. \quad (4.5)$$

Since $f \in Q_\lambda^{m+1}(k, d, \alpha, \beta, \gamma)$, so

$$p(z) + \frac{\lambda z p'(z)}{(1 - \lambda) + \lambda p(z)} \prec K_\alpha(z).$$

Thus by using Lemma 1, $p(z) \prec K_\alpha(z)$ and hence $f \in Q_\lambda^m(k, d, \alpha, \beta, \gamma)$.

Let us consider the Bernardi integral operator F_μ given by

$$F_\mu f(z) = \frac{\mu + 1}{z^\mu} \int_0^z t^{\mu-1} f(t) dt. \quad (4.6)$$

For μ with $\operatorname{Re} \mu > -1$ the operator has the property $F_\mu : A \rightarrow A$, (see, for instance, [10], p.11).

Theorem 5 Let $\mu > -1$ and $f \in Q_\lambda^m(k, d, \alpha, \beta, \gamma)$, then $F_\mu f \in Q_\lambda^m(k, d, \alpha, \beta, \gamma)$.

Proof. Let $f \in Q_\lambda^m(k, d, \alpha, \beta, \gamma)$ and

$$\frac{z \left(D_\lambda^m(k, d)F_\mu(f)(z) \right)'}{D_\lambda^m(k, d)F_\mu(f)(z)} = p(z), \quad (4.7)$$

where the function $p(z)$ is analytic in U and $p(0) = 1$. From (4.6), we have

$$z \left(F_\mu(f) \right)'(z) + \mu F_\mu(f)(z) = (\mu + 1)f(z)$$

and so

$$z \left(D_\lambda^m(k, d)F_\mu(f)(z) \right)' = (\mu + 1) \left(D_\lambda^m(k, d)f(z) \right) - \mu \left(D_\lambda^m(k, d)F_\mu(f)(z) \right). \quad (4.8)$$

Then, by using equations (4.7) and (4.8), we obtain

$$\frac{(\mu+1)(D_\lambda^m(k,d)f(z))}{D_\lambda^m(k,d)F_\mu(f)(z)} = p(z) + \mu \tag{4.9}$$

By logarithmic differentiation of(4.9), we have

$$\frac{z\left(D_\lambda^m(k,d)f(z)\right)'}{D_\lambda^m(k,d)f(z)} = p(z) + \frac{zp'}{p(z)+\mu}, \quad (z \in \mu).$$

Hence by Lemmal, we conclude that $p(z) \prec K_\alpha(z)$ in U which implies that $F_\mu f \in Q_\lambda^m(k,d,\alpha,\beta,\gamma)$.

Theorem 6 Let $f \in Q_\lambda^m(k,d,\alpha,\beta,\gamma)$ and $\psi \in kV$. If $0 < \gamma \leq 1$, then $\psi * f \in Q_\lambda^m(k,d,\alpha,\beta,\gamma)$.

Proof. Let $F = \psi * f$. If $f \in Q_\lambda^m(k,d,\alpha,\beta,\gamma)$ then the condition (4.3) is satisfied with $p \prec K_\alpha(z)$. Using the usual convolution properties and (4.3),

$$\begin{aligned} p(z) &= \frac{z\left(D_\lambda^m(k,d)F(z)\right)'}{D_\lambda^m(k,d)F(z)} \\ &= \frac{z\left(D_\lambda^m(k,d)(\psi * f)\right)'}{D_\lambda^m(k,d)(\psi * f)} \\ &= \frac{z\left(\psi * D_\lambda^m(k,d)f\right)'}{\psi * D_\lambda^m(k,d)f} \\ &= \frac{\psi * z\left(D_\lambda^m(k,d)f\right)'}{\psi * D_\lambda^m(k,d)f} \\ &= \frac{\psi * (P(z)F(z))}{\psi * F(z)}. \end{aligned} \tag{4.10}$$

By Theorem(3), the function $F(z) = D_{\lambda}^m(k, d)f(z) \in \mathcal{S}^*(\alpha, \beta, \gamma)$.

Hence, by Lemma (3) , we have

$$\frac{z \left(D_{\lambda}^m(k, d)F(z) \right)'}{D_{\lambda}^m(k, d)F(z)} \in \overline{co[F(U)]} \subset K_{\alpha}(z).$$

Since $K_{\alpha}(z)$ is a convex univalent and $p(z) \prec K_{\alpha}(z)$.

Hence $F = \psi * f \in Q_{\lambda}^m(k, d, \alpha, \beta, \gamma)$.

REFERENCES

- [1] H. S. Al-Amiri and T. S. Fernando, On close-to-convex functions of complex order, *Internat. J. Math. Math. Sci.* **13** (1990), 321–330.
- [2] M. Acu, Some subclasses of α -uniformly convex functions, *Acta Math. Acad. Paedagog. Nyházi. (N.S.)* **21** (2005), 49–54.
- [3] Á. Baricz, Generalized Bessel functions of the first kind, *Lecture Notes in Mathematics*, 1994, Springer, Berlin, 2010.
- [4] A. Baricz, E. Deniz, M. Çağlar and H. Orhan, Differential subordinations involving generalized Bessel functions, *Bull. Malays. Math. Sci. Soc.* **38** (2015), no. 3, 1255–1280.
- [5] R. Bharati, R. Parvatham and A. Swaminathan, On subclasses of uniformly convex functions and corresponding class of starlike functions, *Tamkang J. Math.* **28** (1997), 17–32.
- [6] A. Gangadharan, T. N. Shanmugam and H. M. Srivastava, Generalized hypergeometric functions associated with k -uniformly convex functions, *Comput. Math. Appl.* **44** (2002), 1515–1526.
- [7] A. W. Goodman, On uniformly convex functions, *Ann. Polon. Math.* **56** (1991), 87–92.
- [8] S. Kanas and A. Wisniowska, Conic regions and k -uniform convexity, *J. Comput. Appl. Math.* **105** (1999), 327–336.
- [9] S. Kanas and A. Wisniowska, Conic domains and k -starlike functions. *Rev. Roumaine Math. Pures Appl.* **45** (2000), 647–657.

- [10] A. Lecko and A. Wiśniowska, Geometric properties of subclasses of starlike functions, *J. Comput. Appl. Math.* **155** (2003), 383–387.
- [11] W. C. Ma and D. Minda, Uniformly convex functions, *Ann. Polon. Math.* **57** (1992), 165–175.
- [12] S. S. Miller and P. T. Mocanu, Differential subordinations and univalent functions, *Michigan Math. J.* **28** (1981), 157–172.
- [13] S. S. Miller and P. T. Mocanu, *Differential subordinations, Monographs and Textbooks in Pure and Applied Mathematics*, 225, Dekker, New York, 2000.
- [14] C. Selvaraj and K. R. Karthikeyan, Differential sandwich theorems for certain subclasses of analytic functions, *Math. Commun.* **13** (2008), 311–319.
- [15] K. I. Noor, M. Arif and W. Ul-Haq, On k -uniformly close-to-convex functions of complex order, *Appl. Math. Comput.* **215** (2009), 629–635.
- [16] W. Rogosinski, On the coefficients of subordinate functions, *Proc. London Math. Soc.* (2) **48** (1943), 48–82.
- [17] F. Rønning, Uniformly convex functions and a corresponding class of starlike functions, *Proc. Amer. Math. Soc.* **118** (1993), 189–196.
- [18] S. Ruscheweyh, *Convolutions in geometric function theory*, Séminaire de Mathématiques Supérieures, 83, Presses Univ. Montréal, Montreal, QC, 1982.
- [19] A. Swaminathan, Hypergeometric functions in the parabolic domain, *Tamsui Oxf. J. Math. Sci.* **20** (2004), 1–16.

